(o
r o/

support tube
reference only

90° Fixed Supports

After 1/92
90°, 70° MFX Swingaway Supports

90 Degree Fixed Support Footrest Assembly - AT5043



90 Degree Fixed Support Footrest Assembly - AT5043

After 1/92
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 A 1044078-NLA | NLA - Footplate, Black (3-1/4" W x 5-1/4" L) (10" W) 1 1
1 B 1044082-NLA | NLA - Footplate, Black (4-1/4" W x 5-1/4" L) (12" W) 1 1
2 1029454-NLA | NLA - Washer, Nylon (3/16 x 3/4 x 5/32") 1 2
3 1025457 Spacer, Coved (1/4 x 3/4 x 11/32") 1 4
4 1027097 Plug Button, Black (3/4") 1 2
5 1163311 Screw, Socket Button Head (10-32 x 1-1/4") 1 2
6 1008495 Screw, Socket Button Head (1/4-20 x 1-1/2") 1 1
7 A 1030952 Screw, Shoulder Hex Socket Head (1/4" x 2", 1 1
#10-24)

7 B 1023967-NLA | NLA - Screw, Socket Button Head (1/4-20 x 2-5/8") 1 1
8 A 1029429-NLA | NLA - Tube, Footrest, Black 1 1
8 B 1029428-NLA | NLA - Tube, Footrest, Black 1 1
9 1028417-NLA | NLA - Cam, Adjustment 1 1
10 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 1
11 1025732-NLA | NLA - Locknut (#10-24) 1 1
12 A 1026034-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 1
13 A 1025715 Washer (1/4" x 7/16" x 1/16") 1 1
14 B 1018739 Washer (1/4 x 5/8 x 3/32") 1 1
15 AC 1029432-NLA | NLA - Flip-Up Footplate Assembly - Right 1 1
15 AC 1029433-NLA | NLA - Flip-Up Footplate Assembly - Left 1 1
15 B,C 1029434-NLA | NLA - Flip-Up Footplate Assembly, Black - Right 1 1
15 B,C 1029435-NLA | NLA - Flip-Up Footplate Assembly, Black - Left 1 1
16 AD 1032699-NLA | NLA - Flip-Up Footplate Assembly - Right 1 1
16 AD 1032700-NLA | NLA - Flip-Up Footplate Assembly - Left 1 1
16 B,D 1032703-NLA | NLA - Flip-Up Footplate Assembly - Right 1 1
16 B,D 1032704-NLA | NLA - Flip-Up Footplate Assembly - Left 1 1

NOTE: A -10-11" Wide Chairs

B - 12-14" Wide Chairs

C - Swingaway Front Frames
D - Fixed Front Frames




